@ Crnoxenwne 10 1000 (110 ropu30HTAIH)

Umst: Jata:_ OneHka:
223 + 440 = 955 + 621 =
694 + 702 = 883 +792 =
941 +1= 379 + 61 =
597 +407 = 499 + 975 =
23 +970 = 163 +450 =
624 + 694 = 485 + 604 =
952 + 655 = 971 +262 =
352 + 887 = 199 + 126 =
621 + 447 = 137 +303 =
84 +436 = 699 + 733 =
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Crnoxenwne 10 1000 (1o ropu3oHTAIH)

Nwms:

223 + 440 = 663

694 + 702 = 1396

941 +1 =942

597 +407 = 1004

23 +970 = 993

624 + 694 = 1318

952 + 655 = 1607

352 + 887 = 1239

621 +447 = 1068

84 + 436 = 520

955 + 621 = 1576

883 +792 = 1675

379 + 61 =440

499 + 975 = 1474

163 +450 = 613

485 + 604 = 1089

971 +262 = 1233

199 + 126 = 325

137+ 303 = 440

699 + 733 = 1432
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Jlara: Orenka:
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